
3° : CONTROLE DE MATHEMATIQUES : CORRIGE SUJET A

Exercice 1 :

)2 = (9x)2 + 2 × 9x × 8 + 82 = 81x2 + 144x + 64
2 = 62 − 2 × 6 × 5x + (5x)2 = 36 − 60x + 25x2

) (4x + 7) = ( 4x)2 − 72 = 16x 2 − 49

+ (2x − 5)(2x + 5) = x2 + 2 × x ×1 + 12 + (2x)2 − 52 = x2 + 2x +1 + 4x2 − 25 = 5x

x − 2 )− 3(2x − 4)2 + 5(2x + 3)(1 − 7x)

− 3(4x2 −16x +16) + 5(2 x − 14x2 + 3 − 21x)

− 12x2 + 48x − 48 +10x − 70x2 +15 − 105x

− 47x − 37

2 :

x + 1) − 5(x + 1) = (x +1)[( x + 2 )− 5] = (x +1)( x − 3)

60x + 25 = (6x)2 − 2 × 6x × 5 + 52 = ( 6x − 5)2

15 = 3 × 2x2 − 3 × 5 = 3(2x2 − 5)

81 + 64x2 = 92 + (8x)2 + 2 × 9 × 8x = (9 + 8x)2

x2 = 42 − (7x)2 = (4 − 7x) (4+ 7x)

3 :

)2
−( 3x −1)(2x − 6)

(3x − 1)2 − (3x −1)(2x − 6)

9x2 − 6x + 1− (6x2 −18x − 2x + 6)

9x2 − 6x +1− 6x2 +18x + 2x − 6



3° : CONTROLE DE MATHEMATIQUES : CORRIGE SUJET B

Exercice 1 :

)2 = (8x)2 + 2 × 8x × 9 + 92 = 64x2 +144x + 81
2 = 52 − 2 × 5 × 6x +( 6x)2 = 25 − 60x + 36x2

) (7x + 4) = ( 7x)2 − 42 = 49x2 −16

+ (2x + 6)(2x − 6) = x2 + 2 × x × 1+ 12 + (2x)2 − 62 = x2 + 2x +1 + 4x2 − 36 = 5x

x + 2 )− 3(4x − 2)2 + 5(3x + 2)(1 − 7x)

− 3(16 x2 − 16x + 4) + 5(3 x − 21x2 + 2 − 14x)

− 48x2 + 48x − 12 +15x − 105x2 +10 − 70x

2 − 7x − 6

2 :

x + 2) − 5(x + 2) = (x + 2)[(x +1) − 5] = (x + 2)(x − 4 )

60x + 36 = ( 5x)2 − 2 × 5x × 6 + 62 = ( 5x − 6 )2

21 = 3 × 2x2 − 3 × 7 = 3(2 x2 − 7)

64 + 81x2 = 82 + (9x)2 + 2 × 8 × 9x = (8 + 9x)2

x2 = 72 − (4x)2 = (7 − 4x) (7+ 4x)

3 :

)2
−( 3x −1)(2x − 7)

(3x − 1)2 − (3x −1)(2x − 7)

9x2 − 6x + 1− (6x2 − 21x − 2x + 7)

9x2 − 6x +1− 6x2 + 21x + 2x − 7


